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20188 204 AT ESSEH &

Al

2N FoI=A
Ha: HASE MEOHN XY
Sl 220 (d2ESEYIAH) Chel: ® &)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
Z=0l &l 227,295 344,314 A 117,019
= 38,007
< 20,501
= 168,787
NASE MEod X 190,003 981 A 118,978
= 11,341
= 13,835
= 164,827
220 (22T ELESH) 190,003 ,981 A 118,978
= 11,341
o 13,835
= 164,827
S2UNXSHBLEE(HLSSE ABEH) 175,827 982 AT2,155
=} 11,000
= 164,827
201 2pre | 2,880 880 0
2,880
01 AR 22l ] 2,160 ,160 0
ooz2 ANRES 2¢ 180,000 x 1200 & 2,160
= 2,160
02 22244l 720 720 0
O%z20 2= X2 60,000 x 1204 & 720
=} 720
202 044l 8,000 ,000 0
& 8,000
01 2L Y| 8,000 ,000 0
O9z20 Atdl2el s odl 8,000
o=t 8,000
301 YPrE A 120 120 0
& 120
11 JIEtE2 A= 120 120 0
Ooz20 FEFR M B4a3 120
& 120
308 XNXIGHMSO0|& 164,827 ,982 NT2,155
07 AIXISHHZ2EES 2 164,827 ,982 ANT2,155
O9z20 AlZ2HEEY2 164,827
SSZHANXNHMBABEX (IS SHAY) 10,504 ,040 AN 29,536
= 8,403
o= 2,101
307 212t0| ™ 10,504 ,040 A 29,536
= 8,403
& 2,101
01 s =l 10,504 ,040 N 29,536
OZHUAB R A 6,704
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ol = x| Al
HE: HASS MBOUF N
cHe: 220 (d2ESEYIAH) (2 &HH)
. _ = SfE|
CEB - HS(3H) - HBAY - B Ol At o %@ﬁ HRE2
= 5,363
& 1,341
ozoRg 2AZ 1,000
= 800
=} 200
O &322 1,000
= 800
= 200
O] 1,800
2 1,440
o=} 360
220 AXNHBIA B (HLMSSIIH XR) 3,672 20,959 N 17,287
2 2,938
& 734
307 QI2t0| ™ 3,672 20,959 N 17,287
= 2,938
& 734
o1 szt 3,672 20,959 N 17,287
OAdMe S| 3,672
= 2,938
= 734
BYSYAPH (FU=x4) 35,292 33,333 1,959
2 26,666
o= 6,666
= 1,960
clady|(og28sEYal H) 35,292 33,333 1,959
= 26,666
o= 6,666
= 1,960
IZZHMXSLHMBA BT (AT IO BEIA 22H) 33,332 31,373 1,959
= 26,666
= 6,666
101 e1214| 33,332 31,373 1,959
= 26,666
= 6,666
03 2INHAZ2ZXNHE = 33,332 31,373 1,959
Oz &el Al 12| 33,332
= 26,666
& 6,666
a0 &2A = 1,960 1,960 0
101 Q124 4| 1,960 1,960 0
03 RIAHL*ZZXHE = 1,960 1,960 0
O9z220 22At =& 1,960
TH S (Fo=EX4) 2,000 2,000 0
BESEYIHNBEINES (A2 ESELESAH) 2,000 2,000 0
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